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4, (10%) _ Consider the infinite series Y-, n_(l;:ll.n_)‘"’ where a > 0. Find the necessary and sufficient condition of a such that the

series is convergent, or argue that no such condition exists.
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Exercise 3. (58 p-&4k# Logarithmic p-series)
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3. Let f(x): ={0, O 1} be a partition of [0, 1].
(a) (7%) Caloulate the upper sum U(f,p) and the lower sum ZL(f,p) of [ overthe partition P.Rounded the

answers fo the third decimal place.

ol
b) (6%) A imat
(b) (6%) Approximate I°1+x2

dx by the Simpson’s rule with n=4 and round to the third decimal place.

(¢) (7%) Evaluate lm{z [ }
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5. Evaluate the following integrals.
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